
© 2023 Kason Industries, Inc.     IS-0036-485-340    0923 kasonind.com  |  1.800.935.2766  |  PAGE 1 of 2

0036-485-340 Padlocking Hasp, Flush, Dual Post w/ Quarter Turn Latch 
Part Number: 10036485340

INSTALLATION INSTRUCTIONS

 CAUTION
To protect against human entrapment periodically check function 
of inside release assembly.

DIRECTIONS
1. Start installation by drilling a Ø5/8” hole through the jamb, 

1-1/16” to 1-1/8” from the edge of the door gap.  
Drill from the exterior through the interior. (Fig. 1)

2. Drill a Ø15/16” hole, 3-1/2” from the first hole, and 1”  
deep into the door. This hole must be level with the first. (Fig. 1)

3. Enlarge the Ø5/8” hole on the interior of the jamb  
to Ø7/8” to a depth of 1-1/2” (Fig. 2)

4. Enlarge the Ø5/8” hole on the exterior of the jamb  
to Ø3/4” to a depth of 1/2”. (Fig. 2)

5. Insert the 0036-703-54 Post through the 0036-315-95 
mounting plate, located on the exterior of the jamb,  
centered  in the hole, oriented so the padlock hole is 
horizontal. (Fig. 2) Ensure post is aligned and engages  
with the 0485 ISR assembly.  
Note: When required for special offsets, mount spacer 
0485-99-117 under escutcheon plate. Longer screws may 
be required.

6. Mark, drill, and tap the two mounting plate holes for #10 
screws (not provided) and fasten to jamb. (Fig. 4)

7. From the inside, insert the 0485 ISR assembly through the 
hole and slide the Post through the Mounting Plate on the 
jamb until snug. Turn the red knob to lock in place.  
IMPORTANT: See (Fig. 5) for orientation of the 0485 ISR 
lever, pointing up for right hand door, and point down  
for left hand door. Attach using No. 10 screws. (Fig. 4)

8. Assemble the second post. (Fig. 3)

9. Insert assembly into door, mark, drill, and tap the mounting 
holes for #10 screws and fasten to door. (Fig. 4)

10. Apply safety and instruction labels. (Fig. 5)

11. Check function of assembly by locking door with padlock. 
Release the door using the inside release lever, and push 
door open.

12. Repeat function check periodically.

Note: Backing plates within the door and jamb are recommended. 
#10 screws are required for mounting inside release and Padlock 
posts. Tamperproof screws are recommended. (not provided)

FIG. 1 (Right Hand Door Shown)

FIG. 2 (Right Hand Door Shown)

Ø5/8”
(15.9 mm)

THRU

Ø15/16”
(23.8 mm)
1” DEEP

1-1/16” to 1-1/8”
(27 to 28.5 mm)

DOOR GAP
APPROX. 1/4”

3-1/2” REF
(88.9 mm)

JAMB DOOR

EXTERIOR

JAMB

0485 INSIDE
RELEASE ASSEMBLY

FILL VOID 
WITH SILICONE

0036-320-95
MOUNTING PLATE
ORIENT AS SHOWN

INTERIOR

DOOR
1-1/2”

(38.1 mm)
DEPTH

0485-99-117
(WHERE NEEDED)

FREEZERS: FILL WARM
SIDE CAVITY WITH

LOW TEMP GREASE

PADLOCK HOLE

  0036-315-95
MOUNTING

PLATE

0036-703-54
POST (2)

Ø3/4”
(19.1 mm)

Ø15/16”
(23.8 mm)

1”
(25.4 mm)
DEPTH

Ø7/8”
(22.2 mm)

3-1/2” REF
(88.9 mm)

1/2”
(12.7 mm)
DEPTH

EXTERIOR

Ø5/8”
(15.9 mm)

THRU

Ø15/16”
(23.8 mm)
1” DEEP

1-1/16” to 1-1/8”
(27 to 28.5 mm)

DOOR GAP
APPROX. 1/4”

3-1/2” REF
(88.9 mm)

JAMB DOOR

EXTERIOR

JAMB

0485 INSIDE
RELEASE ASSEMBLY

FILL VOID 
WITH SILICONE

0036-320-95
MOUNTING PLATE
ORIENT AS SHOWN

INTERIOR

DOOR
1-1/2”

(38.1 mm)
DEPTH

0485-99-117
(WHERE NEEDED)

FREEZERS: FILL WARM
SIDE CAVITY WITH

LOW TEMP GREASE

PADLOCK HOLE

  0036-315-95
MOUNTING

PLATE

0036-703-54
POST (2)

Ø3/4”
(19.1 mm)

Ø15/16”
(23.8 mm)

1”
(25.4 mm)
DEPTH

Ø7/8”
(22.2 mm)

3-1/2” REF
(88.9 mm)

1/2”
(12.7 mm)
DEPTH

EXTERIOR

http://www.kasonind.com/


© 2023 Kason Industries, Inc.     IS-0036-485-340    0923 kasonind.com  |  1.800.935.2766  |  PAGE 2 of 2

0036-485-340 Padlocking Hasp, Flush, Dual Post w/ Quarter Turn Latch 
Part Number: 10036485340

INSTALLATION INSTRUCTIONS

0036-703-54
POST

0036-329-117
SPACER

20138400110062
WASHER

2000537C110500
BOLT

#10 SCREWS (4 PLCS)
LOCK NOT
PROVIDED

ORIENT MOUNTING PLATE
AS SHOWN

#10 SCREWS
NOTE 7

NOTE 6
NOTE 9

0485-877-117
SAFEGUARD LABEL

LH DOOR
ORIENTATION

REMOVE PROTECTIVE
BACKING AND ADHERE

LABEL TO CLEAN
PANEL SURFACE

RH DOOR
ORIENTATION

0485-879-117
INSTRUCTION LABEL
(GLOW-IN-THE-DARK)

CHECK FUNCTION OF ASSEMBLY
BY LOCKING DOOR WITH PADLOCK,
RELEASING DOOR WITH INSIDE RELEASE,
AND PUSHING THE DOOR OPEN.
INSTALL SAFETY LABELS AND 
INSTRUCTIONS AS SHOWN BELOW. 

FIG. 3 (Right Hand Door Shown)

FIG. 4 (Right Hand Door Shown)

FIG. 5

0036-703-54
POST

0036-329-117
SPACER

20138400110062
WASHER

2000537C110500
BOLT

#10 SCREWS (4 PLCS)
LOCK NOT
PROVIDED

ORIENT MOUNTING PLATE
AS SHOWN

#10 SCREWS
NOTE 7

NOTE 6
NOTE 9

0485-877-117
SAFEGUARD LABEL

LH DOOR
ORIENTATION

REMOVE PROTECTIVE
BACKING AND ADHERE

LABEL TO CLEAN
PANEL SURFACE

RH DOOR
ORIENTATION

0485-879-117
INSTRUCTION LABEL
(GLOW-IN-THE-DARK)

CHECK FUNCTION OF ASSEMBLY
BY LOCKING DOOR WITH PADLOCK,
RELEASING DOOR WITH INSIDE RELEASE,
AND PUSHING THE DOOR OPEN.
INSTALL SAFETY LABELS AND 
INSTRUCTIONS AS SHOWN BELOW. 

0036-703-54
POST

0036-329-117
SPACER

20138400110062
WASHER

2000537C110500
BOLT

#10 SCREWS (4 PLCS)
LOCK NOT
PROVIDED

ORIENT MOUNTING PLATE
AS SHOWN

#10 SCREWS
NOTE 7

NOTE 6
NOTE 9

0485-877-117
SAFEGUARD LABEL

LH DOOR
ORIENTATION

REMOVE PROTECTIVE
BACKING AND ADHERE

LABEL TO CLEAN
PANEL SURFACE

RH DOOR
ORIENTATION

0485-879-117
INSTRUCTION LABEL
(GLOW-IN-THE-DARK)

CHECK FUNCTION OF ASSEMBLY
BY LOCKING DOOR WITH PADLOCK,
RELEASING DOOR WITH INSIDE RELEASE,
AND PUSHING THE DOOR OPEN.
INSTALL SAFETY LABELS AND 
INSTRUCTIONS AS SHOWN BELOW. 

http://www.kasonind.com/

